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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper consists of 8 questions.

3. Answer any 5 questions.

The marks of each question are written alongside the
questions.

5. The use of non-programmable calculators is permitted.

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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Discuss the important components underlying the
concept of economic development. Is gross domestic

product a good proxy for economic development?
(13)
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“Authoritarianism is neither necessary nor sufficient

for economic development.” Discuss with examples.
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(a) “Economic development is not possible through
uncoordinated individual actions”. In light of this
statement, discuss the role of the State in the

process of development. (6)

(b) Discuss how different market structures in the
provision of complementary government goods

affect the level of corruption and bribes. (9)
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Using various games to discuss the tragedy of the
commons, explain that a general policy of either

privatization or centralized control does not provide a
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6. Explain the role of technical progress in explaining
growth, not as an exogenous black box but stemming
from deliberate innovation and diffusion. How can
we calculate the contribution of the productivity
of education, skill and training in GDP growth?

(10,5)
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3. (a) How would the endogeneity of capital output
ratio modify the neutrality of the Harrod-Domar
model? (7)

(b) The economy of Zuhu produces its GNP using
capital and labour. The labour force is growing at
2% per year. At the same time, there is labour
augmenting technical progress at the rate of 3%
per year. How fast is the effective labour force

growing?

Further, Zuhu saves 20% of its output and the
capital stock is perfectly durable and does not
depreciate from year to year. If k(t) =3 at time
t, calculate the value of k(t+1). (2,6)
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4. (a) How can income inequality be interpreted in terms
of long run trends in US and Europe? (9)

(b) Discuss the difficulties involved in computing a

poverty line. (6)
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5. The table below provides the income per day for the
6 individuals comprising the population in countries A
and B. Assume that the poverty lines are Rs. 120 per
capita per day in both countries.

Income per person per day (Rs.)
Person 1 | Person2 | Person3 Person 4 Person 5 | Person 6
Country A
100 200 100 110 150 200
Country B
90 100 150 100 150 200
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(a) (i) Calculate the Head Count ratio in both
countries. Would a regressive transfer make
any difference to the head count ratio?

(3)
(ii) Calculate the Income Gap Ratio in both

countries. (3)

(iii) In Country B if Rs. 10 is transferred from
the first to the second individual, how will
that affect the Income Gap Ratio? Explain

your answer. (2)

(b) Discuss briefly the measure of poverty that
considers the aspect of relative deprivation among
the poor. (3)

(c) Calculate the Gini coefficient in both countries A
and B. (4)
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